Incorrect Payouts Guide

If you are experiencing incorrect payouts during play you need to check the “Wheel Test” screen. Open the
upper coin door and press the “DIAG” button. Then move the cursor down by pressing the “DOWN” button
to “TESTS” and press the “DIAG” button again. Move the cursor down by pressing the “DOWN” button to
“Input Tests” and press the “DIAG” button again.
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Incorrect Payouts Guide

Now press the “DOWN” switch to move the cursor to “Wheel Test” and press “DIAG”.
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Looking to the right of the screen you will see statistics of the wheel. When the game is first powered on,
this information will be blank. Press the “TEST” button to initiate a spin engaging the clutch. Each time the
wheel is spun the “Last max:” value will be shown along with “Avg Max:”. Each spin should result in the
“Last max:” value being 2000 plus or minus 10. The “Avg Max:” value will be the average of spins so each
spin you test this will give you a better picture of what the sensors are doing.

Starting from the R pie (home) the game should count 2000 positions until the next home. If the average is
below 2000 by more than 10 the wheel encoder holes are being missed. If the count is above 2000 by 10
or more than the home sensor is being missed. From peg to peg the game will count 20 positions. A total
of 100 pegs are on the wheel for a total of 2000 positions.

Notes:

1) The “Home Switch:” indicator will never change from 0.
2) The wheel animations should match the real wheel.

3) The more you spin the more accurate the information.

4) The wheel animation will reset to the R pie every time the
home hole is seen by the home sensor.




Three sensors determine the position of the wheel. The encoder reads each hole on the outside of the
encoder disc. Each hole returns 4 bits of data to the game. There are 500 holes in the disc for a total of
2000 positions. The home sensor sees the home hole on the encoder wheel. The Clicker sensor reads
the position of the pegs. If the animation lags the real wheel while spinning, the encoder sensor is not
seeing all the outer holes. The disc and encoder sensor alignment needs to be verified.

When the wheel is turned, the encoder sensor sees the outer holes of the disc. This will increase the
“Wheel pos:” value until the home hole is seen. When the home hole is seen the “Wheel pos:” will reset
to 0. When the home sensor is not being seen the value for “Wheel pos:” will continue to increase.

When the clicker sensor is malfunctioning, the wheel position will be close, so the colors will match but if
the clicker is between two points by a peg, the software will most likely assume the wrong position.

Each wheel pie is a letter position to the wheel. The pies have either 4 or 5 positions. Each position is
between two pegs. The pie order starts at the bankrupt for spelling but the home hole is at the pie R.




Starting from bankrupt position, M has 2 positions, E has 5, G has 5, Ahas 5, W has 5, | has 4, N has 5, W has
5,Hhas5,Ehas5,Ehas4,Lhas2,0has5, Fhas5, Fhas 5,0 has5,Rhas4, Thas5,Uhas5, N has5, E has

5. That spells “Mega Win Wheel of Fortune”. Bankrupt (B1x2) and loose a turn (L1x2) have 1 position but on
each side of a letter.

R1 R2 R3 R4 11
Clicker T2 T3 Ta

T5

The wheel test screen will show “Spin Result” position. Using the above position list, you can verify that each
spin test preformed shows the correct pie position. Wheel slot (RAW) value doesn’t always match “Spin Re-
sult” and can be safely ignored.

The “clicker Pos:” value will be at 0 when the click is between two pegs and change to 1 when on a peg.

Using the above information, you can determine which if any of the sensors are malfunctioning.



